

مناقصة عامة
مواد عامة فايروسات

LAB-2025-14

١-شركة الرحمة

1			2		3	4	5				6
National No.	Seller Code No.	Kimadia Item No.	Brief Description of Laboratory Supplies and Equipment ##		Quantity offered and physical unit	Country of Origin	Price per physical unit [Bidder may insert permissible Currency]				Total Price DDP Kimadia Warehouse Baghdad Iraq in U.S dollar 3*5(b)
			Product	Packing Unit Size			CIP price [Bidder may insert place of destination]	Price DDP Kimadia Warehouse Baghdad Iraq in U.S dollar	incidental Services as defined in Contract Requirements List	DDP at End-users' site and Incidental Services	
(a)	(b)	(c)	(a)	(b)			(a)	(b)	(c)	(d) = [(b) + (c)]	
Option A											
43-A00-028	VIA-002-010096	Anti-HB Core Total ELISA	Anti-HB Core Total ELISA	96T/Kit	894532	Jordan		0.33/test			295195.56
Option B											
43-A00-028	VC02010	Anti-HB-Core Total (ELISA)	Anti-HB-Core Total (ELISA)	96 tests/kit	894532	China		0.4/test			357812.8
Option C											
43-A00-028	ITP21501	Anti-HB-Core Total (ELISA)	HBc Ab Elisa 96T/kit	96T/Kit	894532	China		0.36/test			322031.52

ج. Price Schedule for Goods to be imported from Abroad

1			2	3	4	5				6
National Code (a)	Seller Code (b)	Item No. (c)	Brief Description of Goods	Quantity offered for 3 Years	Country of Origin	Unit Price [USD]				Total price on CIP at Baghdad/ Kimadia's Warehouse 3X 5 (D)
						CIP Price / End User (A) Baghdad/ Kimadia's Warehouse	DDP Price / End User (B)	Incidental services as stated in requirements (C)	CIP Price / End Users with emergency services B+C=D	
43-B00-001	Abbott	1	Alinity HB CORE total (chemilumneses)	250,000 Test	Germany	1.85 \$	Nil	Nil	1.85 \$	462,500.00 \$
Grand Total of Bid price: 462,500.00 USD (Four Hundred-Sixty-Two Thousand Five Hundred US Dollars & Zero cents) only.										

Item	Qty.	Unit	Description	Cat. No.	Origin	Test Price USD	Total Price USD
1.	894532	Kits	MONOLISA Anti-HBc Plus - EIA for detection of antibodies to Hepatitis B virus nucleocapsid core antigen (anti-HBc) in human serum or plasma - Kit Size is 480 tests (1864 kits)	72316	European Union (France)	0.73	655,980.74
2.	250000	tests	HB core total consisting of:		European Union (France)	1.72	430,755.32
2.1	2500	kit	HBC AB 2x50 tests	34240	European Union (France)		
2.2	250	ea	HBC AB CALIBRATORS	34245	European Union (France)		
2.3	100	ea	HBC AB CONTROLS	34249	European Union (France)		
Total Amount CIP Baghdad						USD	1,086,736.06

٤-شركة الجيل القادم

National code	Item	وحدة القياس	الكلفة التخمينية	سعر الفحص من الشركة	عدد الفحوص الكلي	المنشأ	الشركة المصنعة
43-A00-028	Anti-HB-Core Total (Elisa)	Test	0.80	0.65	894532	U.K	Diasorin (Murex)

الشركة المصنعة (Diasorin Murex)

منشأ المواد المقدمة U.K

السعر المقدم بالدولار الامريكي \$0.65

نفاذبة العطاء (سنة ميلادية كاملة من تاريخ تقديم العطاء)

الشركة العامة
لتسويق الادوية والمستحضرات
نجمة اسلام رفح عربات
الهدد

٥- شركة ميدهوب

الجدول ادناه يوضح الامور الفنية والمالية الخاصة بالمنافسة المذكورة اعلاه.

العدد	الرقم الوطني	اسم المادة	التعبئة	عدد الفحوصات	Estimated cost USD	Total Estimated cost USD	اعمار المواد التصنيعي
1-	43-A00-028	Anti- HB-Core Total (ELISA)	test	894532	0.59/ Test	527,773.88	30 Months
المجموع الكلي = \$ 527,773.88 (خمسمائة وسبعة وعشرون الفا وسبعمائة وثلاثة وسبعون دولاراً أمريكياً وثمانية وثمانون سنتاً لا غير) واصل الى مخازن كيماديا في بغداد.							